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Grafico di funzione del tipo y=kx, k sia positivo che negativo.

O©oOo~NOO O, WNPEFO

[y
o

1 2
y=X y=2X
-4 -8
-3 -6
-2 -4
-1 -2
0 0
1 2
2 4
3 6
4 8
5 10
6 12
7 14
8 16
9 18
10 20

1/2
y=%X

y=3X

1/3
y=%X

-1,33
-1,00
-0,67
-0,33
0,00
0,33
0,67
1,00
1,33
1,67
2,00
2,33
2,67
3,00
3,33

-1

-2

-1/2

-3

-1/3

Yy=-X y=-2X y=-%X y=-3X y=-%X

2
1,5
1
0,5
0
-0,5
-1
-15
-2
2,5
-3
-3,5
-4
-4.5
-5

12
9

»

1,33
1,00
0,67
0,33
0,00
-0,33
-0,67
-1,00
-1,33
-1,67
-2,00
-2,33
-2,67
-3,00
-3,33



—— /=X

Grafico di funzione del tipo y=kx

- y:ZX y=x y=2x y=%Xx y=3X Yy=%X
TEYITAX S y=lx o y=-2X y=-Bx y=-3X  y=-%X
y=3X >
1519 o
= Y =5X ?
y=-X 144 <
>ty =-2X
y=-%X 137
—— Y3 -3X 124
y=\"%X
11-
10-
9_
8_
7_
6_
5_
4_
3_
2_
\-
£ Asse x
[ | | | | | | | 1
-4 - 7, r~.2 3 4 5 6 7 9 10
1_
-2
-3
-4 -
-5




—— =X
== y=2X
—— Y =X
y=3X
= Y =75X
y=-X
=y =-2X
y=-%X
—@— y=-3X
y=-%X

Grafico di funzione del tipo y=kx
y=x y=2x y=%Xx y=3Xx y=%X
y=-X y=-2x y=-%x y=-3X y=-%X

30

Assey

28 1

26

24

22

20

18

16

14+

12+

10+

=10

12 -



Grafico di funzione del tipo y=kx
y=x y=2x y=%Xx y=3Xx y=%X
y=-X y=-2x y=-%x y=-3X y=-%X
30
29
28
27
26
25
24
23
22
21
20
19 -
18-
17 -
16 -
15 -
14 -
13-
12 -
11 -

Asse y




	Sheet1
	S2

